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Signal Interval
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Different energy interval
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Remove bad data from different STK layers
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STK ADC of different layers
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Zeta Value ¢ =0.125 x 107° x (sumRms)*Flast
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/eta Value

ZetaValue Cut Xf LFCP JLF3%
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How to optimize nBarLayerl3 Cut for LFCP

nBarLayer13

Before: (TotEnergy [GeV]) 20}
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* Selections
* Construction of Dampe



Selections

* Pre-Selections

* Trigger: GO, G3, G4.

* Fiducial.

* Global Track.

* Angle difference between BGO track and STK track. (<4°)

* PSD Cuts

* PSD charge. (#0)

* PSD path length. (10mm)

* PSD two end ratio.

* STK Cuts
* STK energy < 120 ADC.
* Remove ladder’s edge cluster.
* More than 2 layers remain.



Selections
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/eta

DmpAlgLightFCP: :GetZetaValue(){
zeta=";
fflast=fBgoRecTool->GetSumLayerFraction( -, ) ;
fsumRMSSqrt=fBgoRecTool->GetSumDefaultSqrtRMS(, ) ;

zeta = fflast*TMath: :Power(fsumRMSSqrt, )/ ( ) ;
return zeta;
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FIt
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